6.4 Word Problems from Digits {(Homework “G”)

(;2) 6.4.8 = Question Help

% Swimming Pool On a certain hot summer's day, 481 people used the public swimming pool. The daily prices are $1.50 for children and $2.25 for adults. The
receipts for admission totaled $933.75. How many children and how many adults swam at the public pool that day?
There were I _ children at the public pool.

There were adults at the public pool.
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Farmer Brown planted corn and wheat on his 370 acres of land. The cost of planting and harvesting com (which includes seed, planting, fertilizer, machinery, labor,
and other costs) Is $280 per acre. The cost of planting and harvesting wheat is $135 per acre. If Farmer Brown's total cost was $84,750, how many more acres of

corn than wheat did the farmer plant?

Farmer Brown planted more acres of corn than wheat.
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Challenge Solve the system of equations by the substitution method. Then use the solution to evaluate the expression 2x(-7 +y).

% 3x+y+5=6+6y-x
Ix=y+17-2x

\\ The vaiue of the expresslon is D
(Simplify your answer.)
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Challenge The members of the clty cultural center have dacldad to put on a play once a night for a week. Thelr auditorium holds 600 people. By selling tickets, the
members would like to ralse $3,300 every night to cover all expenses. Let d represent the number of adult tickets sold at $7.50. Let s represent the number of
student tickets sold at $4.50 each. If all 600 seats are filled for a performance, how many of each type of ticket must have been sold for the members to raise exactly
$3,3007 At one performance there were two times as many student tickets sold as adult tickets. If there were 360 tickets sold at that performance, how much below
the goal of $3,300 did ticket sales fall?

The members sold___ adulttickets and ___ student lickets.

If there were 360 tickets sold, the ticket sales fall $ below the goal of $3,300.
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